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Q1 What is the mass of air contained in a room of dimensions 6m x 8m x 3m? The

specific volume of air is 0.83 m¥kg

a) 1448kg b)119.52 kg ¢) 173.49 kg d) 168.5 kg
Ans X A a

X B.b

« C.c

X D.d

Question ID : 1703221383
Status : Answered
Chosen Option: C

.2 . . . i
a In sensible cooling process the dew point temperature of the air

a) Decreases b) Increases ¢) Remains d) None of
constant the above
Ans X A a
X B.b
o C.cC
X D.d

Question ID : 1703221405
Status : Answered
Chosen Option: C




Q3 i lrten) 3, el Al o FULT Bofeh (Aeg) Ta I Helg o ofdl o ey 10T Y
FEA &

a) 3TGerer HIoT by &Afa ST ¢ IF P d IWFTH T
IS wgr

Ans X A a
X B.b
&« C.c
X D.d

Question ID : 1703221388

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q4 ﬁwﬁwayﬁﬂmﬁmmﬁmﬁﬁmﬁ

FEAE
a) A amae b) FEUTA o) 3udded  d) fATerfig

Ans X A a
& B.b
X C.c
X D.d

Question ID : 1703221397
Status : Answered
Chosen Option : B

Q5
.................. is Ozone friendly refrigerant.

a) R-11 b) R-134a c) R-12 d) R-22

Ans X A a

Question ID : 1703221400
Status : Answered
Chosen Option : B




Q.6 STCTTeeeret AT (S & BRI e SUYFT TETH ... gl
a) JeddAlees dlgl b)) HeIdATIHA ¢ BB d) SHed T

2

vaferd

CoTTEee
Ans X A a
X B.b
K Cec
 D.d

Question ID : 1703221390
Status : Answered
Chosen Option : D

Q.7
The heat which changes the state of the substance without changing the
temperature is called as .........

a) Latent b) Total heat c) Sensible heat d) Specific heat
heat

Ans # A a

X B.b

K Cec

X D.d

Question ID : 1703221385
Status : Answered
Chosen Option: A

Qs Specified temperature at which lubricating oil ceases to flow is known as

a) Pour point b) Flash point ¢) melting point d) Freezing point

Ans Al a
X B.b
X C.c
X D.d

Question ID : 1703221386

Not Attempted and
Marked For Review

Chosen Option : --

Status :




Q.9

Ans

Psychrometry is the study of

a)
vapour
b)

c)

d) Chemical & Thermodynamic properties

& A a
X B.b
X C.c
X D.d

Physical & Thermodynamic properties of mixtures of air & Water

Physical & chemical properties of mixtures of air
Chemical & Electrical properties of mixtures of air & Water vapour

of mixtures of air

Question ID : 1703221420
Status : Answered
Chosen Option : A

Q.10

Ans

Medium used in Feeler bulb of Thermostatic

a) Alcohol b) R22 c)

K Aa
& B.b
X C.c
X D.d

Mercury

Expansion valve is

d) Ammonia

Question ID : 1703221392
Status : Answered
Chosen Option: C

Q.11

Ans

IheTieT & ea & I ehe &l AAGI. ...

a) a@ﬁmﬂaﬁt v) foledal o)

K Aa
X B.b
« C.c
X D.d

e B IARIT STATE |

d

Question ID : 1703221415
Status : Answered
Chosen Option: C




Q.12

Which of the following insulator having least Thermal conductivity ?

a) Polyurethane b) Cork c) Foam concrete  d) Thermocole
Ans A a
X B.b
X C.c
X D.d
Question ID : 1703221418
Status : Answered
Chosen Option : A
Q.13 . . . . : ;
Which refrigerant is used in Frozen food transportation containers ?
a) Lithium b) Ammonia c) Freon-22 d) Liquid
bromide Nitrogen
Ans X A a
< B.b
K C.c
« D.d
Question ID : 1703221402
Status : Answered
Chosen Option : B
Q14 grog FUseT weiiasT oty & ford e &, &1 1 gl =11 ueiiae heiic) 38T

Ans

garg?

a) aIegE b) HUEH ¢ 3ULrer O EiCIGE]
dled

K Aa

X B.b

X C.c

& D.d

Question ID : 1703221396
Status : Answered
Chosen Option: D




Q.15

THA AT (Fieh-5e7) 2MeTeren (Fe) 37 UFHNR & [aEdNe ared &l
T AT ST
a)  hiAeT sTelr b) Sdagieid ¢ gEddlAd d) JHRCeH
[EEsiecy ared faFare areq
dled
Ans X A a
X B.b
X Cec
o D.d
Question ID : 1703221406
Status : Answered
Chosen Option : B
Q.16 . .
Water is flowing through a condenser at the rate of 0.4 kg/s and the
temperature of water is reduced from 40°C to15°C. Find the rate of
heat being removed from the water? Specific heat of water is 4.2
kJ/kg.K
a) 42.0kw b) 104.75 kW c) 52.38 kW d) 130.9 kW
Ans o A a
X B.b
X Cec
X D.d
Question ID : 1703221395
Status : Answered
Chosen Option : A
Q.17 : : ;
Amount of heat required to raise the temperature of unit mass of
substance by unit temperature is called as
a) Sensible b) Latent heat <c¢) Specific d) Total heat
Heat Heat
Ans X A a
X B.b
&« C.c
< D.d

Question ID : 1703221399
Status : Answered
Chosen Option: C




Q.18

Ans

Capacity of water cooler is expressed in

a) Ton of Refrigeration(TR) b)Litres/hour

X Aa
& B.b
K C.c
X D.d

c) BTU d)Watts

Question ID : 1703221414
Status : Answered
Chosen Option : B

Q.19

Ans

To extinguish fire due to flammable liquids, which type of extinguishing agent is

used?

a) Foam b) Water

Chiloride

o A a
X B.b
X C.c
X D.d

c) Carbon Tetra

d) None of the
above

Question ID : 1703221384
Status : Answered
Chosen Option: C

Q.20

Solenoid valve is operated by

a) Electricity b) hand

Ans o Aa

X B.b
K C.c
X D.d

Gas Qil

pressure

d)

pressure

Question ID : 1703221407
Status : Answered
Chosen Option : A

Q2 3%  leTAT FSAT 3T FET &7

a) dleled

Ans X A.a
X B.b
« C.c

X D.d

b) Hage

¢) 39ddd

d) Tafeeor

Question ID : 1703221398
Status : Answered
Chosen Option: C




Q22 1,0 gauge pressure of a refrigerant cylinder shows 12.835 bar. What is the

absolute pressure?

a) 11.822bar b) 13.848 bar ¢) 11.522 bar d)14.128 bar

Ans X A a
o B.b
X Cec
X< D.d

Question ID : 1703221381
Status : Answered
Chosen Option : D

Q.23
Whatis ODP ?

a)  Ozone Depletion Potential b) Ozone Development Project
c) Ozone draining programme  d) Ozone detecting plan

Ans o Aa
< B.b
X C.c
X D.d

Question ID : 1703221410
Status : Answered
Chosen Option: A

Q24 Grew fAT# o HTAR I o AT (V) TN ATIAT (T) & ST T /el ... grar
gl

a) VI-Ter® b V/I-fermE o T-V-Fer® 4 V+I-TereE

Ans X A a
& B.b
X C.c
X D.d

Question ID : 1703221408
Status : Answered
Chosen Option : B

225 \w/hich one of the following is not used as a fuel in Gas welding?

a) Acetylene b) Hydrogen c) Oxygen d) LPG

Ans X A a
7< B.b
« C.C
X D.d

Question ID : 1703221401
Status : Answered
Chosen Option : D




Q.26

Ans

a‘rﬂ-mmﬁaﬁmlﬂt’rﬁaﬁsﬁ%@ YR & Ios ol gl
frarSTar gl

a) A0 des b) dcdes ¢) TWETATWA ) ollell dos
(Telle) des

K Aa

X B.b

« C.c
X D.d

Question ID : 1703221409
Status : Answered
Chosen Option : B

Q.27

Ans

Which of the following is not a type of compressor?

a)Reciprocating b) Rotary ¢) Lateral d) Screw

K Aa
A B.b
« C.c
X D.d

Question ID : 1703221416
Status : Answered
Chosen Option: C

Q.28

Ans

Type of Condenser used in modern refrigerator is ................

a) Wiremesh b) Plate c) Body d)  None of
Condenser the above

K Aa
X B.b
« C.C
X D.d

Question ID : 1703221391
Status : Answered
Chosen Option: C




Q.29

Ans

Swash plate axial compressors are commonly used in

b) Split Air
conditioner

c) Car Air

a) Window
i conditioner

air
conditioner

X Aa
& B.b
« C.c
X D.d

d) Centralized
air
conditioner

Question ID : 1703221389
Status : Answered
Chosen Option : D

Q.30

Ans

TIRE el (I S WSRO # o £

3T aed HIag b)  gefdes @t
ey IH I

a)

K Aa
X B.b
X C.c
& D.d

Question ID : 1703221417
Status : Answered
Chosen Option : D

Q.31

Ans

“MEGGER” instrument is used to measure

a) High
Current

b) Insulation
Resistance

c)Low
Capacitance

X Aa
' B.b
X C.c
X D.d

d) Low
inductance

Question ID : 1703221393
Status : Answered
Chosen Option : B




a3 IfFalle R-11 & Torv wefiaes faTeisT &1 @1 Gohd (FeX HIS) .......... 2

a) &I b) J[eIrey ¢) AR d) sirer

Ans X A a
X B.b
o C.c
X D.d

Question ID : 1703221411
Status : Answered
Chosen Option: C

.33 5 . : ; :
Gasket material used for compressors in refrigeration system is

a) Cork B Lead c) Asbestos d) Allthe
rubber above
Ans X A a
X B.b
X C.c
 D.d

Question ID : 1703221404
Status : Answered
Chosen Option: C

.34
Q In a vapor compression cycle, the state of the refrigerant immediately
after expansion valve is

a) Super heated b) Sub cooled c¢) Saturated d) WetVapor
Vapour liquid liquid

Ans X A a

X B.b

X C.c

« D.d

Question ID : 1703221394
Status : Answered
Chosen Option : B

Q35 e FreT IYRIT & AT TR 3 AT SefeT BT ST ol ST 1

a) HEPA elel b) SFCIAF Belel ¢ ) I BeAel  d) ThIA Telal

Ans o A a
X B.b
X C.c
X D.d

Question ID : 1703221412
Status : Not Answered
Chosen Option : --




Q.36

Ans

Copper pipes are joined with fittings by

a)  Bolting b)  Welding c) Riveting d) Flaring

K Aa
X B.b
K Cec
« D.d

Question ID : 1703221419
Status : Answered
Chosen Option : D

Q.37

Ans

Type of file used to remove more material is ....................

a) Bastard file b) Fine grade c) Second cut d) Smooth file
file file

& A a
X B.b
X C.c
X D.d

Question ID : 1703221387

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.38

Ans

Air-washers are used for

a) Cooling & de humidification b) Humidification of air
of air

¢) Cleaning of the air d) Allthe above

X Aa
X B.b
X C.c
" D.d

Question ID : 1703221413
Status : Answered
Chosen Option: C




Q3% 1 AC duct drawing, following symbol is used to indicate

a) Exhaust air duct ¢) Return air duct
b) Supply air duct- direction d) Supply air duct- direction
away from the reader towards the reader
Ans X A a
X B.b
X Cec
o D.d

Question ID : 1703221403
Status : Not Answered
Chosen Option : --

G0 00 afsEE I BRASISE H TRafad &1 |
a) -40°F b) -72¢F c) -8°F d) 233°F

Ans A a
X B.b
X C.c
X D.d

Question ID : 1703221382
Status : Answered
Chosen Option : A

Section : TECHNICIAN-B (REFRIGERATION and AC) Post Code-005-2

Q1 T HTAAFR T o7TE SHHT =WeT$ F et 1 Ay e o
60 TAOHRT ¥ . 39% QI FT cm? H UdT 90T

a) 100 b) 200 ¢) 150 d) 300

Ans X A a
 B.b
K C.c
X D.d

Question ID : 1703221429
Status : Answered
Chosen Option: B




Q.2

One atmospheric pressure is equivalent to
a) 76¢cmofHg b)S56cmHg c¢)60cmofHg d) 70 cmof Hg

Ans o Aa
X B.b
K C.c
X D.d
Question ID : 1703221437
Status : Answered
Chosen Option: B
Q3 Add the following term 9a + 8b3— ¢ 3+ a? - 4b% + 3 and find out the
co-efficient of ¢
a) -1 b)1 c)10 d)3
Ans A a
X B.b
X C.c
X D.d
Question ID : 1703221422
Status : Not Answered
Chosen Option : --
Q4 The direction of dynamically induced Electro Motive Force can be
shown by
a) Boyle’s Law b) Charles Law
c) Fleming'’s right hand rule d) Hooke’s law
Ans X A a
X B.b
« C.c
X D.d
Question ID : 1703221438
Status : Answered
Chosen Option: C
Q.5 TR,
Nitriding is a process of
a) Tempering b) Annealing
¢) Quenching d) Case hardening
Ans X A a
X B.b
K C.c
& D.d

Question ID : 1703221436
Status : Answered
Chosen Option : B




Q.6

AT FTATF ... H
a) kg.m/s b) N.m/s c) kg.m/s? d) N.m/s?
Ans o Aa
X B.b
K C.c
X D.d

Question ID : 1703221432
Status : Answered
Chosen Option: B

Q.7 e 5
SFH 10 T 7 v BT FTH T FI4T &, H1F1er 12 et 7 3 vwre 15
it & | afe wa fAey w1 wea € ot foraw @t & o g e e
a)5 b) 4 c)6 d)8
Ans X A a
& B.b
K Cc
X D.d
Question ID : 1703221427
Status : Answered
Chosen Option : B
.8 . .
q At f@a § O Fiad srsT gEar g ?
a) 20 b) 17 c)4 d) 10
Ans X A a
& B.b
K C.c
X D.d
Question ID : 1703221430
Status : Answered
Chosen Option : B
a9 eITe] 7 90T FITd 38 I & &9 H S0 I TohelT § 38 ... F3 8
a) deddl b) 3fTeTa Ferefarar
c) HILET d) "@Tear
Ans o A a
X B.b
X C.c
X D.d

Question ID : 1703221431
Status : Answered
Chosen Option : A




Q.10

T dT5e T AR Hed $25000 § 31 faadr @t arges & ot Jed W
6% 13T Tl | dT5eh i [dasha e &l el T 2

a)Rs 28000 b) Rs 23500 c)Rs 27000  d) Rs 26500

Ans X A a

X B.b

K C.c

 D.d

Question ID : 1703221421
Status : Answered
Chosen Option: D
11 3 g
@ /4 Yfeaet Y fefr o @ar?
a) 90 b) 45 c) 180 d) 120

Ans X A a

& B.b

X C.c

X D.d

Question ID : 1703221424
Status : Answered
Chosen Option: B
Q12 TF TeTd T GEH FEAT AT A 07 R L GART TS ST FFAT B
a) fAferRT b) FEAT 3U=IR
c) ImefeEaT d) efear

Ans X A a

 B.b

K C.c

X D.d

Question ID : 1703221434
Status : Answered
Chosen Option: B




Q.13

The peripheral speed of a car wheel of diameter 300 mm rotating at

the speed of 60 RPM, is

& B.b
K C.c
X D.d

a) 30mm/s c)06tmm/s d)60 Tt m/s
Ans X A a
« B.b
X C.c
X D.d
Question ID : 1703221433
Status : Answered
Chosen Option: A
Q.14 . S .
If the side of a square is ‘X’ then the ratio between the area of a
square to perimeter of a square is
a)x/4 c)4 d) x2
Ans o Aa
X B.b
X C.c
X D.d
Question ID : 1703221426
Status : Answered
Chosen Option : A
Q.15 amxan="7?
a) 3 mn C) a m/n d) q mn
Ans X A a
X B.b
K C.c
" D.d
Question ID : 1703221423
Status : Answered
Chosen Option: D
Q.16 A body is said to be in equilibrium if the resultant of all the forces &
moments acting on a body is
a) Less than zero b) zero
c) More than one d) one
Ans X Aa

Question ID : 1703221435
Status : Answered
Chosen Option : B




Q.17

Ans

forrafaf@a & & Flaar Tarh aqes fafa $rofd Fwar 2
a) HUre &fas Hag U 3 @ 0 T o0

b) HuTe &faer FaE 9 At

¢) HuTe ST Feg U 37O MR 9T P o0

d) 3cdd Tdg W AT
X Aa
X B.b
« C.c
X D.d

Question ID : 1703221439
Status : Answered
Chosen Option : D

Q.18

Ans

sin © FT HeA HAFAA T AT O ... & TA B

a) 0° b) 30° c) 90° d) 45°

K Aa
X B.b
& C.c
X D.d

Question ID : 1703221425
Status : Answered
Chosen Option: C

Q.19

Ans

Find the area of an ellipse, if the major and minor axis of an ellipse is
10 cm and 6 cm respectively?

a) 4m b) 16T c) 60m d) 15m

K Aa
X B.b
X C.c
 D.d

Question ID : 1703221428
Status : Answered
Chosen Option : D




Q.20

Ans

T T T8/ 60 FHieT FT gl 5 Fhe H TF FIAT § df 3HHI e a1 Far
gl
a) 60.8 km/h b) 36 km/h c)32.4kmh  d)43.2km/h

K Aa
X B.b
K Cec
« D.d

Question ID : 1703221440
Status : Answered
Chosen Option : D




